4 )

g>d<=0.5
entropy = 0.997
samples = 200
value =[94, 106]
N class =1 y

Wse

/wielkosc <= 1.5\

entropy = 0.998
samples = 34
value = [16, 18]
N class =1 y

f gorna<=0.5 A
entropy = 0.974
samples = 32
value =[13, 19]
N class =1 y

/priorytet <= 0.5\
entropy = 0.887

samples =23
/\

value =[7, 16]
class =1 p

N\

/kruchosc <= 0.5\ /dolna <= 0.5\ 4 ksztalt <= 0.5 A f waga, <= 1.5 A /kruchosc <= 0.5\
entropy = 1.0 entropy = 1.0 entropy = 0.918 entropy = 0.971 entropy = 0.918
samples =12 samples =4 samples = 18 samples =5 samples =9
value = [6, 6] value = [2, 2] value =[12, 6] value = [3, 2] value = [3, 6]

\ Class=0 ) \_ Class=0 ) \ class=0 ) \ class 0 class =1

/kruchosc <= 0.5\ /kruchosc <= 0.5\ /priorytet <= 0.5\ /pnorytet <=0.5
entropy = 0.918 entropy = 1.0 entropy = 0.98 entropy = 0.918
samples =3 samples =10 samples =12 samples =3
value = [1, 2] value = [5, 5] value =[5, 7] value = [1 2]
class =1 class =0 \ class =1

=

f ksztalt <= 0.5 A f gorna<=0.5 A
entropy = 0.918 entropy = 0.918
samples =3 samples =3
value =[1, 2] value = [1, 2]
N class =1 y class =1
/gorna <= 0.5\ prlorytet <=0. 5 aga <=1 5
entropy = 1.0 entropy = 1.0 entropy = 1.0
samples = 2 samples = 2 samples = 2
value =[1, 1] value =[1, 1] value = [1, 1]
N class =0 y class = class =0

J \
rlorytet <=0. 5 prlorytet <=0. 5
entropy = 1.0 entropy = 1.0
samples = 2 samples =2
value =[1, 1] value =[1, 1]
class = class =

/kruchosc <= 0.5\ f gorna<=0.5 A /gorna <= 0.5\ /priorytet <= 0.5\
entropy = 0.918 entropy = 0.918 entropy = 1.0 entropy = 0.918
samples =3 samples =3 samples =4 samples =3
value = [2, 1] value = [1, 2] value = [2, 2] value = [1, 2]
class 0 class =1 class =0 class =1




